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QUESTION PAPER FOR THE POST OF SENIOR TECHNICIAN - (CSE)
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Maximum Marks: 50 Time: 1 Hour

Name of Candidate: _ Roll No: _

INSTRUCTIONS TO CANDIDATES

1_ This question paper has 50 questions. Each question carries one mark. There are four choices for
answer (A, B, C, D) to each question. Choose the correct answer (one only) for each question
and write the answer in the space provided against each question.

2. Candidate must write Name, Roll No. and sign on each page of this booklet.
3. The candidate should check that the booklet does not have any unprinted or tom or missing

pages or questions etc. If so, get it replaced with another question paper, before question paper
starts.

4. One (1) mark will be awarded for each correct answer. There will be negative marking and (- '!I)
mark will be awarded for each incorrect answer.

5. The unanswered questions will not attract negative marking
6. Return the Question Paper cumAnswer Sheet to the invigilator after the examination is over.
7. Mobile, Electronic Watch and other Electronic Gadgets are prohibited in the examination.
8. There should not be any cutting or overwriting in the Answer.
9. Use of Unfair Means in Examination will lead to cancellation of candidature.

1. ~~-q?f-q 50~t ~~"QCf.i 3lcPcpr%1 ~~"$~"$~"'q"R"~ (A, B, C, D) ~I
~ ~"$ ~ -mIT ~ ~"QCf.i) ¥ 3fu~ ~"$"fITIB ~ lfC; ~ 1R ~ Wr@1

2. 3Mm cpt ~ qf@cpl "$ ~ ~ 1R 3lLRT;::rTl1, ncrr ~ ~ irrr (fm~8R CJ)BT irrr 1

3. 3Mm cpt ~ ~ ~ fcp qf@cpl -q~ ififu";rr t,9qf "S31T<:IT CfXJ "S31T<:IT -rrr:m ~ <:IT ~ 3lT"fu ~
%1<w;wt cfr~-q?f~m~~~¢~-q?f~~~1

4. ~ -mIT ~ "$ ~ "QCf.i(1) 3lcP ft:m \iff1VlT 1 '"lcpI{I(J"Icp ~ irrr 3fu ~ TTCiRf ~ "$ ~ (- ~)
~ ft:m \iff1VlT 1

5. ~~ '"l4>1{I (J"I4>~cpT 3l1cpM(1 ~~
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,
6. 11fTan~ m ip ~ ~ -q?[ ~ ~ g)f@Cf51"q<fct~ -cpT ~ ~ I
7. 4I€lI$CiI, $cf'lCf?Jf.i($~ 3fu ~ $cf'l~Tf.iCf5 ~11fTan-q~6.
8. ~-q~"($ftrp:rr 3i'lcWI$kQ ~~~.
9. 11fTan-q~ mtHf "($nrirr m11r JUiI<Clln n::cpr ~ ~ I

Q. No. Question Answer

1. In the first 10 overs of a cricket game, the run rate was only 3.2. What A. 6.25
should be the run rate in the remaining 40 overs to reach the target of
282 runs?

~~~~ 10 3ITcRTlfBR~ 3.2 em 282 ~~(Yf8:<TCfCP~~

fciW ~'r:i40 3ITcRTIf B R qm~ ~?

A. 6.25
B.6.5
C. 6.75
D. 7

2. In a certain store, the profit is 320% of the cost. If the cost increases by A. 70%
25% but the selling price remains constant, approximately what
percentage of the selling price is the profit?

1:fCP m-:qrr ¥R If, crJTlf CifTTTCf cpr 320%Ncrr 5 I ~ CifTTTCf If 25 >rffiWCf cl5T ~
-gtIT 5 ~ ~ ~ Rm~ 5, cIT ~ ~ cpr WTlfTT ~ >Itl~1cf crJTlf
5?

A. 30%
B.70%
C.100%
D.250%

3. 45 men can finish a job in 16 days. 30 more men joined working, 6 days C. 6 Days
after they initiated working. How many days more will they now.take to
finish the remaining work?

45 .3ITG:lft 16 "fu;:IT If 1:fCP cp]1f ~ ~ ~ 61 cp]1f ~ ~ ~ 6 ~ ~ 30 .3ffi
crWT cp]1f If ~rWr<rr 6111'; I mr ~ ~'r:icp]1f ~ ~ If .3ffi ~ ~ ~?
A. 15 Days
B. 10 Days
C. 6 Days
D. 8 Days
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4. Sam borrowed some money from his friend at simple interest of 6% per C. 5 years
annum. He returned his friend Rs. 15600. After how much time did Sam
return the money if he borrowed Rs. 12000?

W:r~ 31tR ~ ~ 6 ~~f(f crrfifcp ~ "ffl"!:lRUT ~ 1RW8" ~ 31:lRfcitc;1TIR
31tR~cpT 15600~~~fuq"1 W:r~~~~~~~fuq"
WRTIR 12000~31:lRfcitc;~?

A. 8 years
B. 2.5 years
C. 5 years
D. 3.5 years

5. In what time will Rs. 1000 become Rs. 1331 at 10% per annum C. 3 year
compounded annually?

~ ~ -q1000/- "flT(rfRT 10 ~~f(f ~ ~ ~ 1331/-6T~?
A. 1 year
B. 4 year
C. 3 year
D. 6 year

6. Find the value of 0.49-0.25/0.2? D.1.2

O. 49 - 0.25/0.2 cpr l=!R:ffi(f~?
A. 1.04
B. 1.4
C.1.02
D.1.2

7. Raman has 2 urns. Both these urns have some pebbles. If 20 pebbles D. 50 and
from urn B are shifted to urnA then, the number of pebbles in each urn 70
become interchanged. But if 10 pebbles from urnA are put into urn B,
then number of pebbles in B are twice the number inA. How many
pebbles do A and B have respectively?

~ ~ ~ 2 CMf~r61~ cJ::IT CMf~rr-qW8" ~ 61<lfuCMf~r B~ 20 ~
cpTCMf~rA -q~ HiClRCl -mxrr \1fRIT 6. <IT ~ CMf~r -q~ ~ -msm3WR1-q
~ ~"61 ~ WR CMf~rA ~ 10 ~ cpTCMf~r B -qSl(if ~ u:rrc;, <IT B
-q~~-msmA~-msm~~6T~"61

A. 60 and 40
B. 80 and 100
C. 70 and 90
D. 50 and 70
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8. A man travelled 30% of his journey at a speed of 85 kmph and the rest 0.48.6

of his journey at a speed of 33 kmph. Find his average speed throughout kmph
the journey.

~ ~ ~ .w:RT 30 ~~ f(f <:mIT 85 ~. m. ~ c:R: cf5T TTffi ~ cf5T 3lR .w:RT ~)1:f

<:mIT 33 ~. m. ~ c:R: cf5T TTffi ~ cf5T 1~ <:mIT -q: ~ 3ffi:rl:r TTffi :m<l ~ 1

A. 42.6 kmph
B. 44.6 kmph
c. 46.6 kmph
0.48.6 kmph

9 A flowers in a basket double every minute and the basket gets full in 30 C.26
minutes. In how much time, the basket was 1/16 full? minutes

~ ~ -q: ~ ~ ~ ~ ~ 51 \3ll(fT 6 3lR ~ 30 ~ -q: loR"\1fTCft 61
~ "fl11<l-q: ~ 1/16 lift st cit?
A. 27 minutes
B. 25 minutes
C. 26 minutes
D. 24 minutes

10 Find the smallest number when decreased by 20 is divisible by 40, 50 C. 1420
and 70.

20~tRR"tR~miT~40, 50 3lR70~~~1
A. 1400
B. 1380
C.1420
0.1540

11 The sum of the weights of P and Q is 168 kg. Half of the weight of P is A. 96 kg
equal to 3/8 times the weight of Q. Find the weight of Q.

P 3lR Q ~ lfR q5l <WT 168 f¢(i1) !'I1461 P ~ ~ q5l 3Tfl:IT lfTTT Q ~ CJ\TR ~ 3/8

"TIT ~ 6R"T6R 61
A. 96 kg
B. 86 kg
C. 72 kg
0.76 kg

12 The distance between two cities is 70 km. If a man covers 35% of the C.21.54
distance in 90 minutes and the rest of the distance in 105 minutes, find kmph
his average speed throughout the journey.

cJ;rr ~rgn~ 6ftq cf5T ~ 70 ~. m. 61 ~ ~ ~ 35 ~~f(f ~ 90 ~-q:
3lR00~ 105 ~ -q: (l<:I" CJ5«IT t ill ~ <:mIT -q: ~ 3ffi:rl:r TTffi :m<l ~ 1
A. 21.57 kmph
B. 22.54 kmph .
C. 21.54 kmph
D. 22.57 kmph

Page 4 of 16



,
13

~
(4)

<:JfuX+Y= 174, 3TRX, Yq5l3nmt cITXq5l11R:mcr~1
A. 58
B.116
C.57
0.114

C.3

If X + Y = 174, and X is half of Y, then find the value of X. B. 116

14 Look at this series: 2, 1, (1/2), (1/4), ... What number should come next? D. (1/16)

~~cpl~: 2,1, (1/2), (1/4),1 3lllTq5t;rm~ .3lRt~?

A. (1/3)
B. (1/8)
C. (2/8)
D. (1/16)

15 Find the missing number:- 16, 33, 65, 131,261, (.... ) A. 523

Tf~~:-16,33,65,131,261, (.... )

A. 523
B. 521
C.613
D.721

16 Identify the figure that completes the pattern.

~ ~ ~ ~
(X) (1) (2) (3)

A.1
B. 2
C.3
D.4
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17 oRead each definition and all four choices carefully, and find the answer

that provides the best example of the given definition:-
Posthumous Publication occurs when a book is published after the

author's death. Which situation below is the best example of
Posthumous Publication?
A. Richard's illness took his life before he was able to enjoy the amazing

early reviews of his novel.
B. Melissa's publisher cancels her book contract after she fails to deliver

the manuscript on time.
C. Clarence never thought he'd live to see the third book in his trilogy

published.
D. Elizabeth is honored with a prestigious literary award for her writing

career and her daughter accepts the award on behalf of her
deceased mother.

~ ~ 3ffi" wIT"i.TR mCf5crq~'em UTR ~ ~ 3ffi" Jfr 3""{'R em ¥ un eft TTt
~"Cf5T~ ~3<'<16~ol m"Cf5«IT6:-

"Hol~q~i('1 >rCf5TRR"('1"6f"6trr 6 ~ ~ tI?r ~ ~ ~ ~ ~ ~R'f men 61
Rh1RYi~('1 c!5Fnft ~ 4~onq~i('1 >rCf5TRR"Cf5T~ ~ 3<'<16~OI6?

A. ftqt tI?r ~;f ~ \1fR ~ m, ~ ~ ~ ~wH 3qr:qlfi tI?r ~
"~mcft wnarrm "Cf5T3iR'C< ~ ~ I

B. ~"Cf5T >rCf5TRfC!5'fillQ ~ q i§RYif4 ~ *~ m~~ Jfr"Cf5T ~

~~~?J:rr61
C. ~;f Cf5lft ~ ~ ~ ~ ergwffi ~ tI?r rlRffi~ em ~R'f

'6tt ~ ~ ~ uttfcm ~I

D. "! Fcti \ill ~er em :ffc);"~ CI5R<R ~ ~ ~ >I f8 fi!6('1fi If6~ Cf59)H<!5 I~ ~

fi 1+11R ('1fcB<:rr \1ffifT 6 3ffi" ~ ~ wffi l!Cf -,.n tI?r 3ffi' ~ 9)H<!5 I~
~Cl5«IT61

18 Which one will replace the question mark?

A. 45
B.29
C.39
0.37

C.39
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19 Find the odd one out :- 1, 4, 9, 16, 23, 25, 36 B.23

fcr;rl:r cpl ~:-1 ,4,9,16,23,25,36

A.9
B. 23
C.25
D.36

20 A is the son of C; C and Q are sisters; Z is the mother of Q and P is the B. Pisthe
son of Z. Which of the following statements is true? maternal

uncle of A
A, C CI5T~t C 3ffi' Q ~6; Z, Q cf5tllT'63ffi' P,Z CI5T~'61Rk1fci1~(1or~
cpf.:r m cp~ ~ '6?

A. P andA are cousins
B. P is the maternal uncle of A
C. Q is the maternal grandfather of A
D. C and P are sisters

21 In a certain language, CHAMPION is coded as HCMAIPNO, how is A.
NEGATIVE coded in that code? ENAGITEV

~~:q(f lfTliIT or,~ cpl 'fCl. m. 'fJ1. ~. mt. -QT. ~. m. ~ ~ or~
~ \TfTc1T t 3'ffmor '1¢I~IC'4¢~ ~ ~ \TfTc1T 6?

A. ENAGITEV
B. NEAGVEIT
C. MGAETVIE
D. EGAITEVN

22 Arrange the words given below in a meaningful sequence. D

1. Income 2. Status 3. Education
4. Well-being 5. Job

~ ~ TN~~ cpl ~ mcicP Wl10r ~ Cl'R'1

1. smr z. ~3. Wrarr4.¢~loI5. ~I

A. 3, 1, 5, 2, 4
B. 1,3,2,5,4
C. 1, 2, 5, 3, 4
D. 3, 5,1,2,4
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23 How many times in a day, are the hands of a clock in straight line but B. 22

opposite in direction?

~fu;f~~~~$6T~mm~~~fu"qfufu~fT~~6?

A. 20
B. 22
C.24
0.48

24 Fill the blank in the middle of the series:- C
SCD, TEF, UGH, __ , WKL

~$~~ftcn:r~~t- ~f1tnsl,~, 1~~i.l,____ , s~2p~(i'f

A. CMN
B. UJI
C. VIJ
D.IJT

25 Two tailors X and Yare paid a total of Rs. 550 per week by their B. Rs. 250
employer. If X is paid 120 percent of the sum paid to Y, how much is Y
paid per week?

cJ ~ X 3fR Y cpTm f.1<:l1Ch11&RT >Itt ~ WM 550m c:pf :fICfR ~
\1fRlT 61~ X cpT Y cpT :fICfR ci5lllt "fTWr c:pf 120 >Itt~[(f :fICfR ~ \1fRlT 6, cIT
Y cpT >Itt ~ ~ :fICfR ~ \1fRlT 6?

A. Rs. 200
B. Rs. 250
C. Rs. 300
D. None of these

Page 8 of 16



26

'Kindness's the example of:

A. abstract noun
B. proper noun
C. common noun
D. collective noun

D. 1995 and
1996

Study the following line graph and answer the question. Exports from
Three Companies Over the Years (in Rs. crore)

150
140

130
120

110
100

B

90
80
70
60
50
40

30
20

10
o

/

A

1993 1994 1995 1996 1997 1998 1999

-- Company X • Company Z Cornpanv Y

For which of the following pairs of years the total exports from the three
Companies together are equal?

Rk1Fcrl~C1~&I~?I cprmcpt 3ffi>rNcprTrR~1 CffIT~cfR $qR[j1"~mm
(~~~)
Rk1Fcrl~ C1CffIT~ ~ ~ ~ ~ ~ cft;IT $q R[j)· cpr WM mm ~ mer ~
"6?

A. 1995 and 1998
B. 1996 and 1998
C. 1997 and 1998
D. 1995 and 1996

27 Sudip is playing with his brother. Here 'Sudip' is an example of-

A. abstract noun
B. proper noun
C. common noun
D. collective noun

28
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29 Which is the interrogative pronoun in the sentence"What is your teacher
telling? That is important."ls:

A. what PrB. when
C. is
O. That

30 The Superintendent of Police, ............. work is very precarious, takes
care of public safety and law and order.

A. whom _£B. whose
C. who
O. why

31 Which one among the following cities, was the best producer of silk cloth 0
under Gupt reign?

(A) Pataliputra (B) Murshidabad
(C) Ghazipur (0) Varanasi

Hk1fMf&Cl ~~ q?R'fIT ~f5{ 'T<f ~llfHCJ5I(ij ~ t~fll~ ~ 'CPT ~ 3ftm 3CGIC'<CJ5

m?

A. qlcfMg~

B. #1?J6I'TC'<
C. II101gx
D. em 1olfft

32 Which one of the following is the common element among Rajagriha, C
Vaishali and Pataliputra?

A. Pali canon of the Sthaviravadins was compiled there
B. Ashokan Major Rock Edicts were found there
C. Places where Buddhist Councils were held
D. Places associated with the compilation of Buddhist canons of the

Mahasanghikas

H k1fM f& (1 ~ ~ q?R 'fIT~, ~~mrIT3ffi" q Ic fMg~ ~ 'fI'T'I1'Rl '('I"(q t?

A. ~lcn~qlR<[j~'~~~crgTfiCJ5fMCl ~~ ~

B. 31~iTcP~ ~ W~ crgT~ ~ ~
c. m~~~~31I[j'IFu1Clcf5T~ciT

D. ~glfli~q;~'~~~~~~~~
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33 The Senia tradition is: 0

A. musical tradition that emerged from the colonial army (Sen a)
B. dance drama written by Keshab Chandra Senc. textile tradition of Eastern Uttar Pradesh
D. musical tradition that invoked the name of Tansen, the

celebrated musician of Akbar's Court

~ -wm ~ >TCPR 6:

A. ~[q) #IT (#IT)*3"lffi Wfuf-wm
B. ~~rcr~ffi&RT~~~
c. ~3"rR~~rcf5t~-wm
D. Wfuf -wm ~ ~ ~ CR5IR~ ~ filn('jCpl~ Cl"Rffi ~;w:r CflT

~~Tfmerr
34 Which one among the following Acts for first time allowed Indians, at B

theoretically, entry to higher posts in British
Indian administration?

A. Charter Act, 1813
B. Charter Act, 1833
C. Charles Wood's Education Desp, 1854
D. Indian Councils Act, 1861

Rk1~ ~ (i ~ *~ ~ ~t15"CifhrR" l1RCftm cpt fl<G:i f(iCJ5~ *ruft~r

~ >r~fR1rf ~ 3Ul1:f?J~ >rcT~rcf5t~ it?

A. ~~,1813

B. ~~,1833

C. ~ ¥ CflT WrarrWcRur, 1854
D.~~~,1861

35 Who among the following founded the Rajahmundri Social Reform 0
Association in 1878 in support of widow
remarriage?

A. Vishanshastri Pandit
B. Ishwar Chandra Vidyasagar
C. Pandita Ramabai
D. Veerasalingam Pantulu

Rk1~~(i ~*~~ g<1RfulEi~"fIl1cl;r~ 1878 ~ ~1\J11~:flfil4lfUiCJ5
~ tm cf5t~ cf5t?

A. fu~t~~~
B. #~CR ~ FclE:llfil1l~

C.~~
D. cft~Ifi~·114 ~
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36 The British Officer who was a representative of the Governor-General C

and who lived in a State which was not under direct British rule was
called:

A. Collector
B. Viceroy
c. Resident
D. Agent

rnft~r ~ un- ~ -"Gf1"«1f C!5T >rfclRfu err3ffi un- ~ ~ ~ Tfxgcn errun-
~ rnft~r ~rRR" ~ :w:ft;r ~ err,~ q;-gr \1ffilT err:

A. Cj')~Cf'C~

B. Cllllfl~lll

C. m-k
D. ~

37 Which of the following American colonies did not attend the first C
Continental Congress held in Philadelphia?

A. Rhode Island
B. Connecticut
C. Georgia
D. Maryland

Rh1fc!1f®(lTf~~ ~~~r-;f fCpMIgfcitbllITf 31lll~fJ1(l~ 451d141ll

~ Tf1-fI1T ~~?

A.m-~
B. Cj')~FcR:Cj')G

C. \1jT~1

D. ~
38 It is known that the atmosphere is divided into some layers. In which one C

among the following layers, is the
percentage composition of helium gas maximum?

A. Troposphere
B. Stratosphere
C. Exosphere
D. Ionosphere

zrg:mcr6~ ClI9)4SM~tR<1TTf~61 Rh1fc!1f®(ltR<1TTf~~~Tf
&1 fc!1ll4TRr cf5I >rfct~Rf ~ ~ 6?

A. s::1q) ffq;ll~
B. ~<:1 ffq;ll~

C. 'ffq;~Cf+tj ll~

D. 'ffq;31lll11-ll~
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39 Consider the following layers of the atmosphere: A
1. Troposphere
2. Stratosphere
3. Mesosphere
4. Thermosphere
Which one among the following is the correct sequence of the layers
with increasing altitude from the Earth's surface?

cn~4ogCl1 ci5t f.1k1~~(11RClT~~~:

1.~
2. «c.)Iflp~~
3. 8*l1~~~
4. ~ COII(1IC01~OI

k1~ ~(1 if*cpRm '!~ ci5t ~ *~ ~ crr<rIT 1RClTcprW ~"6?

A. 1,2,3,4
B. 2,1,3,4
C. 3,2,1,4
D. 4, 2, 3, 1

40 What is the reason for the major hot deserts of the world lying in the A
Western part of the tropical latitude?

A. They are influenced by trade winds
B. They lie in the rain-shadow area of the mountains
C. They are influenced by monsoon winds
D. They are influenced by dry winds

~ 3laIT~r~ ~~ 1fTTT II~ ~ ~~ TTlf ~ fil'«lI1Y cpr qm

'CPRUT 57

A. ~ tl11 q 1R¢ ~3IT ~ wnfcrcnn~6'
B. ~~~crm-mm atiif~-gtt6'
C. ~ ~ ~3IT *w-nfcrcr -gtt 6'
D. ~~ ~3IT ~ w-nfcrcr -gtt 6'

41 What type of computer is typically used by engineers, architects, and 0
designers for tasks such as CA~/CAM, 3D rendering, and simulations?

A. Supercomputer
B. Mainframe
C. Minicomputer
D. Workstation

CAM/CAM, 3D SlFciQIe<13lR ~~'¢l<:if~~ $-A1f.1~~1', COII,«!¢I~l' 3lR
[$\i11$1/i &:RT 3TIl1clR ~ ~ m~~ cpr ~ ~ \1fRIT 57

A·WR~
B.~
C. N;:ft~
D.~~R
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42 Who is considered the "father of modern computers"? B
A. Alan Turing
B. Charles Babbage
C. John von Neumann
D. Ada Lovelace

~ "~ ~ Cf5T URW' "Il"RT \jff(IT t?

A. ~~
B. ~m
C. ~ciR~
D. 3fGJ~

43 The first commercially successful personal computer was: B
A. IBM PC
B. Apple II
C. Commodore PET
D. Altair 8800

~ CZlIcHi! mCf5"Wl~ m CLlf(iTp I(i ~ err:

A. 311g611 q 4 "tfR:ft
B. ~II
C. Cf54h~~~
D. ~8800

44 Software instruction intended to satisfy a user's specific processing D
needs are called --

A. System software
B. Process software
C. Documentation
D. Application software

3q~~IICf5(iycl5I ~~ >lfif<f5~ol31JCT~<:fCP(iTm cpT~ CI5B~ 3t~<T~ flTLfd<H
m~rcpT cp-gr \jff(IT 61

A. ffiw:1flTlfG~~~
B. mm:r flTlfG~~~
C. ~
D. 31:!>l~~11flTY\:~~~

45 Which of the following acronyms is normally used to describe unsolicited D
junk e-mails?

Rhi Ri1 ~ (i "if ~ ~ War:<f ;::w:r Cf5T 3""41WT 3IT4""iiR ~ ~ ~ t-Bcrr Cf5T

quR CI5B~ ~ fcIx:rr \jff(IT 6?

A. CRAM
B. DRAM
C. JAM
D. SPAM
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46 MS Office, Photoshop, and Animatic are examples of: B

A Device driver B.Application software
C. System software D. Operating system

~ ~, m~r'ftr3W qR8Q45 ~ 3c<16~OI'6:

A. rscll~fi ~
B. ~~R fiTq::c:~lI~

C. 'RRvr fi Tq::c:~1I~

D. Jllq~~11 'RRvr
47 The work done by a computer operator is displayed in which part of B

computer?

A. CPU
B. VDU
C. ALU
D. Scanner

~ $11:11(1145&RT~ lfllT 'CJ5l<f ~ ~ ~ lfTTT '8' ~Rf 6trr 6?

A. ~
B.~
C. ~
D.~

48 What is the difference between EPROM and ROM? C

A. EPROM is a type of RAM and ROM is not a memory
B. EPROM is made in factories but ROM can be designed by

individual hardware engineers
C. EPROM is erasable and programmable ROM but ROM can only

read
D. EPROM is not a solid-state device but ROM certainly is

EPROM 3W ROM '8' ~ 3tcR 6?

A. t tIT. 31R :m. ~. ~ >rCflR cf5t 31R. ~. ~. 6 3W 31R. :m. ~. ~
~61

B. t tIT. 31R. :m. ~. 451~& 11)' '8'm '\1fTClT 6 ~ ifll cpT CZ1fcfrp 1(i
6Ig~1I~~\J1lRlI~)'&RTrs\11I~'i~'\11Tm61

c. t tIT. 31R. :m. ~. "6CRm 3W ~ cpRm ifll6 ~ ifll ~

~m61
D. t tIT. 31R. :m. ~. oRr 31W!IT Cff(I1l3q45~01~ 6 ~ ifll ~:q(i" ~

~61
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49 Multi-programming is: 0

A. is a method of memory allocation by which the program is
subdivided into equal portions, or pages and core is subdivided
into equal portions or blocks.

B. consists of those addresses that may be generated by a
processor during execution of a computation.

C. is a method of allocating processor time.
D. allows multiple programs to reside in separate areas of the core

at the time.

6IS-CJ514w8~ >!CPR 6:

A. ~ ~ cl5I ~ fum 6 ~ &RT CJ514w8cpTm 1fT1lT -q ~
Wn \1ffilT 6, m ~ 3ffi cPR cpTm 1fT1lT m~ -q ~ Wn
\1ffilT 61

B. ¢ ~'Q(f ~nfB<Vrmer 6' \:TlT ~ TfORT '$ f.1&J 1~'1'$~ ~ ~ &RT
~~\1fT~6'1

C. ~ 'fIl1<l 31Tciftcf ~ cl5I ~ fum 61
D. ~ CJ514w8~'cpT TI1 'fIl1<l cPR '$ 31WT-31WT ~ -qmcl5I ~ ~ 61

50 is also called auxiliary storage. A

A. Secondary memory
B. Tertiary memory
C. Primary memory
D. Cache memory

cpT flg IIICJ5'4sRuT lft ~ \1ffilT 61

A. ~~

B.~~
C.m~~
D. ~~r~
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